2701 )90 - pYM A8n

122910 M0

A

1I02 >>VDIHN NNN NDY P2 39NN 1PIDA 2PVD2I197 NN NAY P2 O INN X

(:2297717 10N XNVPID 2271 1IDN PNVPIN T2YNN NVIWA INYN) I

WD VN XIN Y291 9NN NIDN 2D ININ.2

FCC

DYIRNNN 971 PO MNVPIY NN .FCC -n 702 72090579 KN O NOPI INSD X
2YINRIANP PV VP XN acwNd 4Mabw oTpn oy BCC -n »1 o N DOw o onY

N AN NN DNV ININ SDINRIANPN XNN DY ¥I9071 MIDN MN0PI AN ML .2
.32 NDY TNNA NYNY NTIPI INSD)

990 DPTPNI DMIINYVLDMP DY PN

G=(hbytkby+lbg) 291 3w 10PN bs by by Y2901 MW 0PI MY 2 NN X
MW IWN HY Nawnd a3 (h K 1Y gmwn ponn PR .NGT) 11199 1IMNT 9N 8PN
2NN TNRN d=217|G| o>pMnn

)INWN PAPNIND NVANINN .83 =4 A, &= a=2AH1NvrumIHvv »v Nn .2

19T NN (& MTP) oA (211

2

3

D29 DOV M DY MMONMN NIV 4

D”O¥ M DY MPIPRIVIN DIVN 93573 1N ,M NN Yo¥a PMLNIND NIVIV NIY

29D NI NN DY v .Km 97101 00ap

(sinimka)?
W= Kn———— : P¥90T0 on° X

J

M
m>!
oMy m’K,, vaon w=a(y m’K, /M) ?K onop ok my .

[

w0 kP2 5oyop ook 111y W K, =1/m°(l< p<3) ox .

w~ky[Ink| p=3may .

-

M1 ~ M3 51232 700N VT NIV .

WNIM M2>=M+A Y M1=M+A v Hinnn ,nn*o1 1IN NNIX DY0IN DY NIVIVN NY
5]
329 1V IMIVNINNN NMIVIVN DY NI NIN X997 ond> A=0May X
MW TN 10N L(NT AXHD2 DINWH NIV XN JN DTN XN 1 Dvynd
P2 NTIVSINND DN MIAVYNNN TIN, TAND DITNRNND PVDIPRI YVNN ,DXNY
JDOND 29PN A qUND D012 DIDVN NV
SV 10 NNV N NMIVIVN DY PN TH on D<M may px A0 may .2

(AIM)? 4700 D»10°22 PMVNMIDN



